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ECONOMICS

Full Marks : 100
Pass Marks : 30

Time : Three hours

The figures in the margin indicate full marks

for the questions.

- PART-A (Reia-<)

Q. No. 1 (a-f) carries 1 mark each 1x6 =
Q. Nos. 2-7 carry 2 marks each ox6 =
Q. Nos. 8-12 carry 4 marks each 4x5 =
Q. Nos. 13 & 14 carry 6 marks each 6x2 =

Total =

PART-B ([eta-2)

Q. No. 15 (a-f) carries 1 mark each 1x6 =
Q. Nos. 16 -21 carry 2 marks each 256 =
Q. Nos. 22-26 carry 4 marks each 4 4%5 =
Q. Nos. 27 & 28 carry 6 marks each 6x2 =

Total =

Total (Part A & B): 50+ 50= 100
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PART-A

fRetei-=
1. Answer the following as directed :
ROt Ses i
(@) What is arithmetic mean ?

B R ) R [ [

(b) What is Statistics ?

AfRy Resi Fie

(c) Write a source of secondary data.

(oMol STYF G B (FCA |

20E ECON (BENG) (2]

1)(6:6

(d) In sampling method, every item/several items is/are studied.

(Choose the correct answer)

sl smfere «FH TR AfSh /AT Glel ThIN F1 2 |
| (B Gea i F)

() The measure of central tendency which divides a series in two equal

parts is (Fill in the blank)

B T T Toi T R SRR WA 2 A

(4T 2 Fe)
(/) Define frequency polygon.
B ERSIEIS QReCEd FHLER] T |
7. Mention two characteristics of statistics. 2
sy Feeie™ 76 (FE S S|
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3. What do you mean by sampling error ? Describe brieﬂy. 2

2fObH @b FEICe [ QIR 2 Feweel 3T Fet |

4. Write two differences between primary and secondary data. 2

4

AP O G N O 776 A1 IR @t

5. What do you mean by Index number ? | 2

HRE TEACS QI 2

6. What is Geographical distribution and Chronological distribution ? 2

COTANET (HTITH R FEAERE T T2

7. What is the relationship among Mean, Median and Mode in case of symmetrical

and asymmetrical distribution ? 2

ARG IR SRS RIS ey, F4wi GF8 Iwia AT Dl T 22
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8. The marks of 30 students in Economics have been given below :

o

R 30 O QU-RER Tite [ elie TErR (1Al R

S0 /341 8123 AMNES A S SIGAISS
09 48 62 38 27 04 39 80 51 47

19+ 720 90452 GG EST M7 LI 6

(a) Prepare a frequency distribution table from the data given. 3
ST (A GFH RN el 2ge FAl |
(b) From the table, show how many students have scored less than 30.
1
FRAIETS! SIFRAD (A (b FOTE WA-REl 3048 I T (AR, @S|

What is Random sampling ? Mention various types of Random sampling.
1+3=4

95

WWﬂiﬂ%@@?ﬂ?Wﬁ@ﬁﬁW%ﬂWl
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10. Calculate arithmetic méan :

i1

G A&y [T Tt g

12. Find out mode :

Class Interval 0-10 10-20 20-30 30-40 40-50
(T ST
Frequency 5 12 8 - 10 S
IO
Or [ 924!

The average weight of 50 boys in a class is 45-5kg. If the average weight of
30 girls is 35-5 kg, then find out the combined arithmetic mean of the weights

of the boys and girls of that class. %
@36 (UTTe AT 50 T QAR 1 9T+ {577 455 kg | ITHTS 2A_F 30 T 2G1F TG ST

I 35-5kg B SR T YE-REI@ AT ST PO A ?

What is correlation coefficient (r) ? Define perfect correlation, zero correlation

and limited correlation. 'y

AZAEH QNS (1) F12 A TTIF, W T G A AT A WG |
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T W e ¢
Marks 14(.)—145. 145-150 | 150-155 | 155-160 | 160-165
kG
No. of students 10 8 30 16 6
RItas WA
Or [ @34l

Whether Median is affected by absolute value. Find out median from the
following marks of 8 students.: ; 1+3=4

S S SR BoE AS (FACS AR 2 Mo 8 T Woe W (TSR SR FeE
e <peal 8

80, Alo5 a1l BEIEARY. 1D, #30

13. What is dispersion ? What are the different measures of dispersion ? Write

the necessities of measuring dispersion. : 2+2+2=6

Rl oo T e 2 RveieE [{od Mg $1 Fie [Koew [aEm Srel Fe

Or [ S
Find out Quartile deviation : 6
el [oem Wi el ¢
X 0-5 5-10 10-15 15-20 20-25 25-30
7 6 10 20 12 6 6
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14. What do you mean by cost of living index number or consumer price index
number ? Calculate index number from the following data taking 1980 as

the base year : | . O+4=6

| T i T s 1 SeATeie T S TS AR 57 S (A 1980

e fofe 31 2o e spaike e et ¢
Commodities Price Price
() (?)
1980 2010
Rice (51%) 40 50
Flour (=Io1) 80 100
Potato (&) 50 70
Onion (¢#1%) ; 20 40
Oil (cosT) 110 180
Or /| 12t
Describe various steps of statistical investigation. )

AFARRIFE SFPEicE [fen S a9 S|
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15. Answer the following as directed :

PART-B
Teta-4

1x6=6

ROMIIITT ©ed w8

(@) In India, economic reforms'started in the year

(Fill in the blank)

TS SRS FEE RS 2 FE | (902 %39 1)

(b) " Mention the name of one famous economist from colonial (British ruled)

India.

s =ifTe oRrer YFe 2Te LIRS F1F (Tl |

(c) What is disinvestment ?

e e
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(d) Mention one source of institutional debt : | :
i ional debt. 17. Mention two steps adopted by the Government for rural development.

SRR AR G ST el :
A1l S T AP A 210 75 ATCEA Il

(e) How much percentage of Indian population presently live below poverty
18. Write two schemes of poverty alleviation adopted by the Government of India.

line ?
2
SIS IO F© *ORH (FIF T TR ? | :
\ AR wiRTe!l TR T SRS I a[l 9j2S 70 ARSI T Tl
() ‘One child’ norm was followed in India/China/Pakistan. ; *19. What do you mean by human resource ? Mention one source of human
(Choose the correct answer) HeS O e 2
: 56 - AR A TS B @I _ S |
G FE IS ©FS / b / AT epfere el (5% Geg [T P1) | o ?Wsﬁm“ﬁ_ Qﬁm
20. What is disguised and seasonal unemployment ? 2

16. What was the main occupation of Indian people under colonial rule ? Write
| A O3] AGaTS 2
the names of two goods mostly exported from India to foreign countries VIO (IR BICH e ¢

under colonial rule. 2
‘ 21. What do you mean by infrastructure? Cite an example of economic
&ifoxt =1fTe SiFce SRSATE S & St F fei? (12 T oFe (A [ 18R | . infrastructure. 2

a7t w6 2xiq Ged N el |
AFFICN 00 T @R e Ton ARTIINE GFo Trizgd WS |

20E ECON (BENG) [10] y
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22.

23.

245

What is rural development ? What is the necessity of rural development for

countries like India.? Explain. ) 1+3=4

AT S T2 SFOARE O Gree AT BAAEE S Y, T @ |
Or /[ 92«

What is NABARD ? Explain its functions. 1+3=4

NABARD <12 <3 id<ets) 51t 61 |

Mention four measures of poverty alleviation in India. &

SRS vigwel Ffasacm 5175 Soim e wi |

Or [/ g24

Mention four causes of unemployment. i

(T T 3R 515 i e <@ |

What is agricultural marketing ? Why should the agricultural marketing of

India be well-organized ? 143=4

ﬁﬁ@mwrwﬁm?@mwmwaﬁ%wmm?
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25.

20E ECON (BENG)

Or [/ 924!

What is inflation ? How does inflation harm the economy of a country ?

1+3=4
TEHI F? TEHIS GHH GO SO FTSE 02T T 2
Among India, China and Pakistan, where the population burden is highest ?

Give an idea of the population size of that country and write about the

policies adopted by the country for decreasing the growth of population.

1+3=4

IS, i @R ATBICEE T4 (@I (0 SRl (@R 7 (A (12 (I SR

G5 TSR M TR QF T S (rEifbre B EEER Ao (TeT R, e |
Or /| 924

Make a comparison between India and China regarding National Income,

birth rate, literacy rate and population growth. 4

TSI W, ST F, AEAO! GR8 SRt JEE TEH (FE SRS R SR T 9l
=Gl |
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26. What is organic agriculture ? What is the difference between organic cultivation Or [ &3

and traditional cultivation ? D:2=4 S G . : !
' ' What do you mean by environmental pollution ? Give some measures to

control environmental pollution. 1+5=6

Gl FE 0o 1 @RT? (GRS PR R AT2RTS SR A2 TG ALy H12
ST SR 0O F (@RN2 AR AE SR @I 1 [ O SRS AT e |

27. Describe the achievements and failures of economic reforms in India.

CHCeA ST FHIET Awero! @R [erornz a9Gt T |

Or [ 923

Write short notes on : D+2+2=6

R Bt el 3

(a) Liberalization

GBS0

(b) Privatization

Ffesresac

(c) Globalization.

RIGEIEER

28. What do you mean by sustainable devélopfnent ? Explain how the environment

has been degraded by the developmental activities. 2+4=6

Azl ST S @R mmﬁmﬁawaﬁ@mwﬁ%w@
w0, AN Pl
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